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MOCK TEST 18

Consider the following about Additional tier 1 (AT1) bonds.

1. They combine both debt and equity. 2. They are issued under Basel 111 capital regulations.
Which of the above is/are correct?

A.1only B. 2 only C.Both1and 2 D. None

If a river in India is to be converted into National Waterways (NWSs), it is done via a/an

A. Central Executive fiat B. Legislation

C. Constitutional amendment only D. Order of the State Government

Which of the following neighbouring countries has better performance in terms of human
development than India?

1. Bangladesh 2. Sri Lanka 3. Nepal 4. Pakistan

Select the correct answer using the codes below.

A.1and 2 only B. 1and 4 only C.2only D. 1, 2and 3 only
Strait of Malacca is a waterway

1. Connecting the Andaman Sea in the Indian Ocean and the South China Sea

2. Running between the Malay Peninsula and Sumatran Island in Indonesia

Which of the above is/are correct?

A. 1only B. 2 only C.Both1land 2 D. None

The classification of Organised and unorganized sector in India is mainly based on

A. Presence or absence of trade Unions B. Outsourcing ability of the firm

C. Total output of the firm D. Employment conditions

The Great Barrier Reef is the largest living thing on Earth and even visible from outer space. It

is located

A. At Soloman Islands B. Off the coast of Queensland in Northeastern Australia

C. Near Timor Sea in Southern Australia ~ D. South of Kimberley Plateau

With regards to Nor Westers or Kal Baisakhi, consider the following statements.

1. It originates over Bihar and Jharkhand area, moves eastwards and strikes West Bengal and Odisha.

2. It is destructive for the pre-Kharif crops like jute and paddy.

Which of the above is/are correct?

A. 1only B. 2 only C.Bothland 2 D. None

With reference to the Central Vigilance Commission, consider the following statements.

1. CVC is appointed by the President of India on the recommendations of a committee consisting of
Prime Minister, Union Home Minister and Chief Justice of India.

2. It submits its annual report directly to the Parliamentary Committee on Ethics.

3. CVC can suo-moto register a criminal case against a Civil Servant based on prima facie evidence.

Select the correct answer using the codes below.

A.1and 2 only B. 3 only C.1lonly D. None of the above
Which of the following locations is nearest to the Equator?

A. Male B. Jakarta C. Bandung D. Yogyakarta

The rivers originating from the Amarkantak range present a good example of which of these
drainage patterns?

A. Trellis B. Radial C. Centripetal D. Dendritic

Arrange these places in East Asia from North to South.

1. Pyongyang 2. Seoul 3. Tokyo

Select the correct answer using the codes below.

A. 123 B. 231 C. 132 D. 213

The severe decline in the bird’s population is largely attributed to the degradation of riverine

habitats including loss of riparian forest corridors. The bird is found in Assam and Arunachal
Pradesh. It is?

A. White Winged Wood Duck B. Slender Pigeon

C. Barb D. Green headed Pigeon



